Efficiency vs dr

o
[od

efficiency vs AR
o
=

Q Illlli H T 5 HERETT

vl I 1 H b i
—s— DQM_original_step2_ttbar-phasel-newgeom
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom

Ratio

15 —— DQM_pixel CPEANndChi2_step2_ttbar-phasel-newgeom

1
TP min AR

0.5

P, jet
o
. D

0.35

©
w

0.25

efficiency vs AR(T!

o
[N

-1

Efficiency vs pu

©
a

0.45

iency vs PU
o
D

0.35

effic
o
w

0.25
0.2
0.15
0.1
0.05]
Ot ]

Ratio

15

I Acoooo0 REEEEEELS boooooo [ S

20 40 60 80 100 120 140
Pileup




	Contents
	Page 1


